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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 67/TUS/2, Set on the Answer-Book.
5. (a) The Question Paper is in English/Hindi medium only. However, if you

wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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SOCIOLOGY

HARRE
(331)
Time : 3 Hours | [ Maximum Marks : 100
9T 3 " ] [W : 100
Note : (i) This Question Paper consists of 49 questions in all.

e

(i)
(i)
(iv)

(vi)

(i)
(ii)

(ii)

All questions are compulsory.

Marks are given against each question.

Section—A consists of Question Nos. 1 to 25 and Section—B consists of

Question Nos. 26 to 49.

(a) Question Nos. 1 to 17 and 41 to 43—are Multiple-choice questions
(MCQs) carrying I mark each (1x20=20). Select and write the most
appropriate option (A, B, C or D). An internal choice has been
provided in some of these questions. You have to attempt only one
of the given choices in such questions.

(b) Question Nos. 18 to 25 and 44 to 47—are other Objective-type
questions. Q. Nos. 18, 19 and 21 carry 2 marks (with 2 sub-parts
of 1 mark each) and Q. No. 20 carries 5 marks (with 5 sub-parts of
1 mark each), Q. No. 22 carries 3 marks (with 3 sub-parts of
1 mark each), Q. Nos. 23, 24 and 25 carry 4 marks (with 4 sub-
parts of I mark each), as well as Q. Nos. 44 to 47 carry I mark
each. Attempt as per the instructions given therein with each such
question at 18 to 25 and 44 to 47.

Section—B at numbers 26 to 49 consists of descriptive-type questions

as follows :

(@) Question Nos. 26 to 31 and 48—are Very short answer-type
questions carry 2 marks each (2x7=14), to be answered in the range
of 80 to 120 words.

(b) Question Nos. 32 to 38—are Short answer-type questions, carry
3 marks each (3x7=21), to be answered in the range of 150 to 200
words.

(c) Question Nos. 39, 40 and 49—are Long answer-type questions carry
5 marks each (5x3=15), to be answered in the range of 400 to 500
words.

For Optional Module, attempt all questions either from Optional

Module—I or Optional Module—II.

™ - T A 49 TH Bl
aft g e 2
TS U & 3eh 3Tk WA JAfhd &l

331/TUS/115A 3 [ EHHAAN TR e-r-o.



(iv) @Ug—eh H U ST 1 ¥ 25 % a1 WUe—@ § Y9 T&N 26 ¥ 49 % &
(@) 9 W& 1 ¥ 17 T 41 § 43 gfahed™ WA &, TH F 1 IH B
(1x20=20)| 988 I9Fh f9hed (A, B, C a1 D) T fafgul 55 w4 ®
It fasheu feom w31 v wwAl § @ fReft w @ sw s
(b) Y9 T@T 18 ¥ 25 TH 44 ¥ 47 I IS Y §| A &1 18, 19 TH
21 H YAP % 2 31 & (I b a1 2 Y- |fgd) Td U T@1 20 & 5
3§ (1 31k Tl 5 IU-9T |fgd), YA W@ 22 F 3 3H & (1 IH
3 JU-uT |fgd), I & 23, 24 TG 25 T YIS & 4 3F 7 (I 36 9
4 3IU-9TT Hied), I T 44 U 47 T U¥F B 1 FAh gl 3 YT h IW
18 ¥ 25 T 44 ¥ 47 ¥ feu mu fdamgam i)
(v) WiE—W@H U3 &I 26 § 49 T aUHTEHS Y B
(a) IO @M 26 ¥ 31 TH 48 3Afd AT T &, TAF & 2 37F & (2x7=14),
TeH BT IW 80 W 120 WG H AT F 3 i
(b) 99 €& 32 ¥ 38 THWT YH ¥, YIh b 3 3 g (3x7=21), TAH H
SW 150 @ 200 vt K dmr & e Gl
(c) I T&AT 39, 40 U 49 E-3q0F T &, I4h & 5 37 & (5%x3=15), I
H IW 400 § 500 W I H & i dfu)
(vi) efcuss Aigget & foTu, Jepfcuss Aigge—I 31e@n ehfous Uigga—II & aft Tt &
A E LY

(1) Answers of all questions are to be given in the Answer-Book given to you.
aft Tl % I Rl & g IR-Yfegen H & ford|

(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

39 YH-TF hl Ugd & fu 15 fime &1 g9y fear mn R weA-u @ faar Que o
2:15 &9 fhaT M@ Qe 2:15 99 & 2:30 & dh B had Y-U i T 3R
39 37EfY % NH 9 IW-YREGHl | g W T8l forat |

N

\. J
SECTION—A
@ us—<h
Answer all multiple-choice questions : 1x17=17
et wgfedia S % I R
1. () Which among the following is a feature of a community? 1

(A) It is associated with a definite territory

(B) Sense of belongingness is stronger
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(C) It is a concrete entity
(D) All of the above

= § ¥ ggg i fosivar sA-H 27
(A) T fifvad &= @ wel@
(B) 3TAUA hl HSEQ WIEHT

(C) T Hd 3T
(D) 3w
Or / FYal
(ii) In sociology, society refers to a sum total of ______ existing between
individuals.
(A) relationships (B) institutions
(C) associations (D) communities
TSI § TS SRR o i s W W A Sl 3R Hehd T Bl
(A) Hagt (B) w3
(©) =i (D) wHemE

2. (i) Which among the following is a feature of a socialist society as stated
by Marx? 1

(A) Ideal society
(B) No classes

(C) No struggle

(D) All of the above

= & @ e g was T8 oS e < fmivar wi-dh 27
(A) s wm

(B) =it w1 affertor T &

(C) 1S Ted 7 &

(D) ST &+
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Or / FYdar

(i) When non-material culture does not adjust readily to material
changes, it results in

(A) diffusion (B) acculturation

(C) cultural lag (D) isolation

e 31fifoes Teepfa fteram & wifaes afEdel @ dreme T8 @ T, d9 38T A
__ Em R

(A) TER (B) H&HId-HsHHT

(C) wrepias frwgmm (D) THid

3. Elections are a form of political communication between the
(A) people
(B) political parties

(C) government and the governed

(D) None of the above 1
e (Reafed) _ & ote o Torfas dae s S 8
(A) @
(B) THfaes wifda
(C) & 3R ImEa
(D) 3w & & *E TE
4. Which of the following is an important feature of urban societies? 1
(A) Marriage (B) Kinship
(C) Anonymity (D) Personality
fie & & T o 6w e RRw Se-w 27
(A) feramg (B) e
(C) Tt (D) =Afthcd
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5. Which of the following is created by people for a specific goal? 1

(A) Association (B) Society

(C) Community (D) Neighbourhood
= # @ w0 A % g o faRre dew & qfd % fow s mn g e
() @ (B) uN

(C) Hye™ (D) weE

6. () Kins may not always be related by blood or marital ties rather there
might be imaginary relationships called

(A) consanguineal
(B) affinal
(C) fictive
(D) None of the above 1
TGN EHAT Th-gil § Toh A1 foelig gr0 I Tl gid & HAfug s o) sier=ra |
§% AAGR WM S 81 W AHER e &l
(A) TH&h
(B) SaTfeeh
(C) WhIedte
(D) S & 8 FFE T
Or / 3Ydl

(i) Mention the degree of kinship for example—Father’s brother’s wife,
father’s sister’s husband, etc., from those given below.

(A) Primary (B) Secondary
(C) Tertiary (D) Cousins

TrdeR i fehedt & MR W ey T IS 1 ThR Fd18Y, ISTeW—Udl & 918
# ucht, fuar &1 587 * ufd, senfel

(A) wTafies (B) fgcftore
(C) qelt=h (D) WE-s&d & s=
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7. As per 2001 Preliminary Census Report, literacy rate in our country is

(A)

(€)

62% B) 64%

65% (D) 33% 1

T 2001 1 Wuftes SUET O % SIER, R W A S AeR 2

(A)

(€)

8. (i

(4)

331/TUS/115A 8

62% (B) 64%

65% (D) 33%

The first education policy in our country was formulated in

(A) 1960 (B) 1980

(C) 1784 (D) 1967 1

TR ow A ugel fyem e wm @ wnp fy

(A) 1960 (B) 1980

(C) 1784 (D) 1967

Or / FYdar

As per the 1991 Census Report among States and Union Territories,
which State has the highest literacy rate?

(A) Orissa (B) Bihar

(C) Kerala (D) Karnataka
T 1991 <t FuET fad o STHER, T 3R hgonfed e § & form asa i
el X T el oft?

(A) sfesm (B) feEw

(C) e (D) HleH



9. Identify the factor that is not correct about class as a system of social
stratification. 1

(A) Non-hereditary
(B) Does not permit mobility
(C) Endogamy is not strictly practised

(D) Achievement and skills are important

= o 9 39 ®Rw & g, S A Tl 6 T TUel % §9 § a1 % aR H
el T 2

(A) AR

(B) 3IWH o ¥ SW 334 i HAEI

(C) @Mz foarg =1 Tfiar ¥ ule 9 &

(D) Iueiferl 3t v qgegl 8

10. () Choose from the following the term that defines rules and norms that

are laid down by society for the conduct of its members. 1
(A) Laws (B) Mores
(C) Customs (D) Traditions

/= o @ 33 o * g S 99 g TS % Q=i o AR % fore fAuifa@
Rt 3R AMeEEl 1 uftfya s 2

(A) B (B) AMR-fe=R

o >

(C) 5T (D) W
Or / 37¥y4ai

(i) Ferdinand Tonnies, a German sociologist, coined which of the
following terms?

(A) Bourgeoise

(B) Gemeinschaft
(C) Gesellschaft

(D) Both (B) and (C)

O

[ EHHAAN TR e-r-o.
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T HA goTeEmel wiéame aHie 3 fermehl wa i ofi?
(A) fofrafq o

(B) ftrsmee

(C) SRR

(D) (B) 3 (C) g

11. (i) One of the major issues which India is facing is
(A) illiteracy (B) population explosion

(C) dowry (D) alcoholism 1

wid 59 yq@ gEl 1 e o @ R, ST 8 T B

(A) Frera (B) e fawsie
(C) <o (D) UewraiersH
Or / a1
(i) Dowry, nepotism, dishonesty, etc., are which of the following forms of
corruption?
(A) Social (B) Political
(C) Administrative (D) Professional
Tge, WE-TdiamEre, SEAM sfe fhe YR % WEER &7
(A) @I (B) TsHIfeh
(C) =TT (D) STEHTR

12. Which of the following defines the contextual view or field view of the
Indian social system? 1

(A) Jati

(B) Varna

(C) Caste

(D) None of the above

331/TUS/115A 10 AN



= # ¥ BH-T1 IRAE AT Srewn & e gfieior a1 & gyt wt uftarfya
HAT B?

(A) Sfd
(B) =i
(C) =<

(D) 37k ¥ & HS T

13. (i) Daniel in his study of racial discrimination wished to discover the
extent of racial discrimination in

(A) Britain (B) France
(C) India (D) South Africa 1
ST HeHTS b O MY H ShEe 4 S wewr o W war A
el
(A) fse (B) %@
(C) 9ra (D) TfEw aThiem

Or / ¥l

(i) A society cannot be fully understood without comparing with other
(A) people
(B) institutions
(C) societies

(D) None of the above

T TS 1 U LR T O T8l AT ST Thdl & e ek I8eh! qol gat
T a9 & AW

(A)
(B) @i
(C) TS
(D) 3 # & *H TE
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14. Through the introduction of which of the following systems local self-
governments have been created in the villages? 1

(A) Panchayati Raj
(B) Judicial system
(C) Reservation system

(D) None of the above

fora yurelt Y yEsTa & wrem @ el § Ty werEa s i feer e de
(A) =TI T

(B) =murfetshl JuTTeft

(C) FmEr yoreh

(D) 3w & w7
15. () Which of the following groups is not an integral part of the caste
system? 1
(A) Scheduled Castes (B) Scheduled Tribes
(C) Backward Classes (D) OBCs
/= & @ SH-=1 gy Sfa womet s 3ndies 3 T8 R 7
(A) STggf=a St (B) SHfad SHwar
(C) Trse = (D) 3= fusg &
Or / 31941

(i) Scheduled Tribes have been conscious of their identity since long, so
they organized movements against

(A) Zamindars

(B) Jagirdars

(C) British rule

(D) All of the above

N
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A WA © I ST A TEEH o Y =ed W@ E, 38 I
% flgars g =

(A) e
(B) Snfier
(C) fafew wwr
(D) 3w &ft

16. Which of the following groups were not allowed to Sanskritize their
status? 1
(A) Brahmins
(B) Untouchables
(C) High castes

(D) None of the above

= o 9 form o 1 30 TR (IRATT) I Fhdientsl & i oo @l 2 ¢

(A) SITEToT

(B) 31gd

(C) 3= SHfaat

(D) 3w & & g &

17. () A neighbourhood or a village is good example of which of the

following? 1
(A) Community (B) Society
(C) Urbanization (D) Association
T g™ A1 e T § ¥ fRweRt Sgd 3Rl 3 87
(A) FHeHE (B) @AM
(C) wralrhtm (D) &=

331/TUS/115A 13 [ EHHAAN TR e-r-o.



Or / FYdar

(i) A society is a collection or aggregation of individuals. This definition
is given by

(A) sociologist (B) political scientist
(C) layman (D) anthropologist
T HUTS I SAREA k TUE AN =T b &9 °H = § ¥ fren wfenfya feeme
(A) FETSEER (B) TSfeeh Smien
(C) HYURY =Afh (D) THaSIE
18. Fill in the blanks (any two) : 1x2=2

(a) The relationship between son-in-law and father-in-law is an example
of .

(consanguineal/affinal /avunculocal /descriptive)

(b) In terms of degree of kinship, the primary kins of our first degree kins
are our kins.

(primary/secondary/tertiary/affinal)

(c) Kinship terms which are used by us for indirectly referring to a person
are known as kinship

(terms of address/elementary terms/derivative terms/
terms of reference)

(%) gMIE 3 TG I TR T I 2|
(TR / AaTigeh /AT / feraroTeneh)

(@) Mepedl W ATHNG ATAGH % IFTER BAR TUH HifE &% ATIGR % MfHeh ATdgR §HR
___ ideR B |
(smerfireh / feefiareh / qefares / dafeeh)

() el 9e, feht SuEm g frdi stucae safth & fou i @ 3% EXi
(FwEe % alieh /TR 9¢/hhM Ug/HeHgas 1e)
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19. Fill in the blanks (any two) : 1x2=2

(a) Simple tribal societies do not have any rigid
(system/institution/social stratification/kinship ties)
(b) The form of religion where tribals worship any non-living body like a
stone or wood is known as
(totemism /naturism/animatism/animism)
(c) Tribals feel they are the sons of soil hence they have a strong sense
of identity.

(caste/ethnic/religious/linguistic)
foreel @t e ol i tjﬁ IfT
(%) A Afeart gat § HIE HIX __ T& Bl
(SroTTeft /| /amTieTes TaiehtuT /ATde |ee)

(@) o &1 98 ¥4, Tl famd freft g ugred I8 qeer a1 dAhet hl IOd &, 39
& 9™ ¥ TMET S g

(ZIEHETE /TepTerag /<ITerTg /SedTg)

() FnfearEt o= 39 w1 g hi Ham aEd € 3EfiT 39k 3iel U At SR
CIRICE I

(STt /STTefr / e / wTeTs)

20. Fill in the blanks any five of the following (write in one word) : 1x5=5

(a) Joint family where extension of the family is along horizontal lines is

(b) Kibbutz is a unique family system found in

(c) A family grouping made of husband-wife and relatives on both sides
is

(d) The term which applies to only one particular kin category is known
as

(e) The term that describes a person’s bilateral set of relatives is

331/TUS/115A 15 [ EHHAAN TR e-r-o.



(f) The kinship usage in which two kinsmen do not address each other
directly rather through a third person or symbol is

(g9 A set of kins who traces their descent from a common ancestor
through known links is

R R IR I e ST

(%) T R, o e 2 s R S A T B A W
(@) forees T FRE UfER womelt & St # U S R

(M) W ofEr w1 ggg, e afd-ueh ot dFi @ % Reder @, ' |

(g) a8 g, S forelt weh T Araerdt & ooft W ar BT ', B |

(¥) T =k % Ag R fig T SwskHl # q@i Aen 9¢ _ heedl 2l

(") < el % € I« His TIY €Y Y Gd=d T8l 8l 8, gfce W =afe % qem
Y gy BT ®, a1 S8 _ whEd @l

() TH TH AGERI T g, A Th G0 Yoo YT 99 ¥ qRf=a Hisai & wem 8
g B §, @ |

21. Write True or False (any two) : 1x2=2

(a¢) Rhythms of nature, cycle of night and day, seasons of sowing, reaping,
harvesting, etc., are examples of fluctuating change.

(b) Conflict theory states that every pattern of action, belief and
interaction tends to generate an opposing reaction.

(c) Social change is a universal process.

T8 @1 Tea fafen (R @)

(%) THd ! 7, Td 3R feT &1 =36, F3TE, hHers & HEH ¢ IATR-TEE (A=A
i) % i Bl

(@) u¥ % faga & AR &% YHR &I fra, favem v srafkan e fauda
gfafskan 1 1 2 1 T w2

(1) "mISes qiEdd T fogesard ufskam 2l
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22. Write True or False (any three) : 1x3=3
(a) Every group is structurally organized.
(b) Nomenclature is not a characteristic of a social group.

(c) Family as an association is a group whereas an institution family is
not a group.

(d) Based on the presence or absence of formal rules, groups can be
defined as formal or informal.

(e) Open groups are those where membership is not voluntary.

w1 Ted fafey (FE 9@

(%) TAF TYE HLEATH® F4 G Tfed 2

(@) Tmugla amfTs wgg i fawvar 7@ 2|

(M) uREr s affd % w9 U Th gug B Sl U wen % ®9 0 wgg Rl

(7) forelt St frm 1 ufeafa stean srufeafa & ayg =t shu=ties a1 sHd=Tie
g o uRefya feRm ST EehdT 2l

(3) g1 T 98 & Eehl HeEar Uf=o® 8 st @l

23. Answer any four (Assertion, Reasoning) : 1x4=4

fopdl WM I ST (g, @)

(i) Based on the following, identify the correct option :

Assertion (A) : The direction of evolution cannot be reversed from the
complex stage to the simple stage.

Reason (R) : Evolution is an irreversible process.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

331/TUS/115A 1
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= % YR W T fosey w1 wEEIHT

TEr (A) : wives faem 6 fasfier foan wfee feufa @ womo 6 i 7@ <fers
ST Eehdl|

T (R) : s faswm & smfadda gfear )
(&) (A) ¥ B, W (R) Toid B
(B) (A) Ted 7, W (R) &l B
(C) (A) 3R (R) aHi HEl &
(D) (A) 3 (R) gHI T &

(i) Based on the following, identify the correct option :

Assertion (A) : Social change is not a value-neutral phenomenon.

Reason (R) : Subjective preference of different people is not given
importance while studying social change.

(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

= % YR W TE fashed &1 TgEw
TET (A) : HHEIRNG IHEdT Jod-qeed UhH T8 2l

T (R) : faftm <t <1 fawerra o0 saftea qEg o1 amiteies giedy & 31eRe o
wee e fen

(&) (A) ¥R B, W (R) Toid B
(B) (A) @ 8, W (R) @&l @
(C) (A) 3R (R) aHi HEl &
(D) (A) 3 (R) gHI T &

331/TUS/115A 1
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(i) Based on the following, identify the correct option :

Assertion (A) : In French Revolution, the rule of the emperor came to
an end suddenly.

Reason (R) : Revolution is a sudden and abrupt overthrow of the
existing social order.

(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

= % omur W T fosew w1 dEATHT
TET (A) : B T TSThId H HHTE I ET TheH THTE & g off|

T (R) : HIS[CT AN TG i IF=HH 3T IThEHh IWTS Bheh H hi e
il Bt 2l

(&) (A) ¥ B, W (R) Teid B
(B) (A) Ted 8, W (R) &el B
(C) (A) 3R (R) ST w&l &
(D) (A) 3 (R) gHl Terd &

(iv) Based on the following, identify the correct option :

Assertion (A) : The notion of development is mnot a recent
phenomenon.

Reason (R) : It is a strategy of unplanned social change.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

[ EHHAAN TR e-r-o.
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e % R W wE foshed i wg=thT

TEl (A) : o H sEuren ' & % aw # faefaa 1@ 88 2
T (R) : I8 Wb AN amifies afted it wrifa gt )
(A) (A) ¥& 8, W (R) T4 7

(B) (A) T@d 2, W (R) @&l 2

(C) (A) 3R (R) <Hl &&l &

(D) (A) 3T (R) G Trerd &

(v) Based on the following, identify the correct option :
Assertion (A) : Socialization is a social process.

Reason (R) : It helps the child to grow and develop physically and
mentally.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

/= % R W & foewen H ggEtT

TET (A) : TS U AT TfshaT B
Th (R) : I8 s=I sl Wik 3 amfae gfg 3t fosm § wgmar & 2

(A) (A) & &, W (R) Tord 7
(B) (A) Tefd 8, W (R) ¥ B
(©) (A) 3R (R) &l HEl &
(D) (A) 3 (R) S 7@ &
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(vi) Based on the following, identify the correct option :

Assertion (A) : The agents of socialization are school, family, social
norms and values of society.

Reason (R) : These are egalitarian forces.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

=1 & YR W TE faehed S ygET

TET (A) : TSR & mrem foener, ufer, amifse ufeam qen e & Afas
T B g

T (R) : I GHAWEh WRRAl &

(A) (A) ¥ B, W (R) Teid B

(B) (A) @ B, W (R) ¥ 2

(C) (A) 3R (R) THl @&l &

(D) (A) 3R (R) Gl TTerd &

24. Match Column—A with Column—B (any four): 1x4=4
Column—A Column—B
(a) Family in which one is born (i) Functions of a family
(b) A form of family based on residence (i) Family of orientation
(c) Socialization of children and (i) Urbanization
enculturation
(d) Families where husband and wife (iv) Avunculocal
both are earning but don’t have
children
(e) A factor that has brought changes (v) Familistic organization

in the family

(f) Joint family in India is a (vi) DINKS
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HIAT—A B Hram—B T i hife (w5 ww) -

HAT—A HiAH—B
(a) TiEr fyad =afe 1 5= gam 2 (i) 9RER & g
(b) TEm@ TWH W Y@ qiER &1 THR (i) A= 1 9iEn
(c) S=ai T THSIH IR TEHITHT (iii) <rE{TeRTol
(d) W& ufEm, Rt ufd s ueh 39 i o (iv) TR T (TR
Bl &, Wifeh ITehT hIS =T &1 BIdl
(e) Th IO S IRER & qiEdd & & (v) I8 TH INENETE T 7
() vd H §YH INER B TH (vi) DINKS

25. Read the passage carefully and then answer the questions that follow
(any foun : 1x4=4

The followers of Judaism are known as Jews. The ancient Indian
settlements of Jews are in Cochin and Maharashtra. The Jews of Cochin
have maintained their religious identity for at least a millennium. It was
in 1020 AD that the King of Cochin gave the Jews the right to live and
enjoy privileges, such as the right to ride elephants and to go with a state
umbrella, etc. Later, the Jews came to be divided into two groups—the
White Jews, who were lighter in their skin color and traced their kinship
to the original migrants and the Black Jews who were dark skinned.

By contrast the Jews in Maharashtra are large in number. These Jews are
known as Bene Israel, i.e., Sons of Israel. They live in several Konkani—
speaking villages as oil pressers, since oil pressing is not a prestigious
occupation, they do not rank high in their villages. As they do not work
on Saturdays, they are also known as Saturday Oilmen.

(a) Name the religion of the Jews. 1
(b) Name the ancient Indian settlements of the Jews. 1

(c) Mention the rights and privileges granted by the King of Cochin for the

Jews. 1
(d) Differentiate between the ‘White Jews’ and ‘Black Jews’. 1
(e) What were the Jews of Maharashtra called? 1
(f) Why were the Jews of Maharashtra also called ‘Saturday Oilmen’? 1
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fo fora e @l erAgEs ufer it f fou o R W sl % Iw i
TgG UM % A Al B 8GN Hed &l [ WA T8 % E A1 AE™ i W
TERTY H 2| I % FgQl 3 AT TgAH FA-H-F0 Th Heil-Em 8 591 Wl 81 Fad
g T 1020 waedt § = & TS A Tgieat Hi Shem-Farg 1 sifusr 3 fmiy e
fou 91 37 fomiy Sifueeri # gt 1 T 3R USehi Ball & oot =oml 91| 916 |
¥ FEG T Wl W o T—Jgl HYE YA AGG [l o @W%e off IR S AU TR
et TEG AMd 9, U GYg 98 1 W e |

TR | FgicAl o F@ A® gl A 91 TS AN IREA b I HEA ol Hishull
W S ATl $® e H ¥ Wd & 3T dct S U i 8 i doft 1 gur yfafyd
EHE T8l ®, 3= el H a1 gofl a8l fear Smar 1 ¥ e+l hm T8 Hd A4
3= Wiard Jeft off wad E

(%) FEica % i % W fafem

(@) TH a9 § 9Ra # Fgfedl & afeql % Tm fafeu)

(M) M %k TSN R FGeA i U M At 9 fomiw iRl w1 3sg@ il
(F) ‘wa T SN w g § A wy hif
(
(

T) TWERIY % TG T HEA o ?
) RNy % e wHER ot oft =i %y S 97

SECTION—B
wis—u«
Answer the following questions in around 80 to 120 words each :

frefafiad @ @ 9i® Y99 &1 ST HT 80 ¥ 120 wisd # fofEw -

26. What is functionalist perspective in Sociology? 2

gaETE d wEiem foafy (vericre aftiew) w2

27. Distinguish between hypergamy and hypogamy. 2
Iem 3R vfaam foame # i@ wE Hifvw
Or / 391

Distinguish between ‘natural inequalities between people’ and °‘social
inequalities’.

AR § TThfaeh W-sOEd’ 3R wmiie R-sue’ § 3@ wE hif
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28. According to Karl Marx, what is the difference between a ruling class and
a service class? 2

HTl W % ITER, WEh @ I T o § T K B 27

29. What was the task and recommendation of the Mandal Commission that
was instituted in 1979°? 2

A HHIIE, S 1979 H TEA g AT, IFHT Igwd IR THwriey wm oAf?

30. State how mores function as social control agents. 2

AR TS 50 T6e % &9 § fohH YRR %M [ 87

31. Explain the political causes of poverty. 2
et % TSHfdS HRUT H1 Ig@ it
Or / 391

Explain the second stage of population transition.

SEEAT THAT hl GE FAEAT H1 qUM HIT)

Answer the following questions in around 150 to 200 words each :

fafafed @ @ I U 1 SW A 150 ¥ 200 vsa H fafEe

32. Discuss the relationship between Sociology and Economics. 3

U Td 9E & 9§69y &1 3g@ i

33. Discuss interviews as a technique of data collection. 3

HIeATehT. g Tehdl i hl Ueh dehdleh &, 3H W Idl hifog|

34. Mention the features of Westernization. 3

ufgerfiertor i fommarst 1 9uH Fifu)

35. “School and educational institutions are important agents of socialization.”
Justify. 3

“foemer 3R Rl TEATE FETSHRT % W@yl mem g1 fae= Sifu)
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Or / HY4l

Discuss family as an agent of socialization. Y2x6=3

TRER FUTSIERT 1 U W 2| 3Ig@ iR

36. Explain the purpose of social control. 3

gmtes e & fim (3Ies) @ 9vie Hifsm
Or / 3FYar

Differentiate between informal and formal means of social control.

gmETRTeh fRET W ST 3R Sfiu=Ties |1l § 3 TE hitu|

37. Justify with suitable reasons as to why Scheduled Tribes are facing an
identity crisis. 3

Fqgfad SHeTiaal o UEEH % Hehe @ w1 S W R, Sfud wRul @ sifuer fiug
EQIEI

38. Discuss the prohibitive rules of marriage in the selection of marital
partners. 3

Sea-areft & o & fou foae & foucrs i 6 ==i Fifsm)
Or / HY4l

Discuss Weber’s idea of ‘Ruling class’ as opposed to Karl Marx.

HT H9E o IEh o1 b 9) | feu MU fomml & 37 9t Y STe=ET W I=] it

Answer the following questions in around 400 to 500 words each :

frefoiflgd & @ 9% 9o 1 ST T 400 ¥ 500 visd § faREy

39. Describe the socio-economic problems of population explosion. (Any five
points) 1x5=5

e foehre 6t amifork- s arensi w1 aun fifvul (F dra fig)

40. Identify and explain the changes brought about in the functions of a
family. 5

iER & $E T AW qREdl ol GgaT-T 3R I 3g@ hif|
Or / 37¥4ai

Define joint family. Highlight the characteristics of a joint family system.

TIh UNGR I TRATNG hHIVT| T TRER Jorret 6l foRivarsti @ sehrr 1ot
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OPTIONAL MODULE-I
( Status of Women )

Iepfeqes ATgga-1
(wfgenstt = @R wRW)

41. Name the reformer whose name is associated with the Child Marriage

Restraint Act of 1929. 1
(A) Raja Ram Mohan Roy (B) Ishwar Chandra Vidyasagar
(C) Har Bilas Sarda (D) Dayanand Saraswati

a1et foamg Triuss srfufem, 19290 frm gumes & 9@ % @ I }7

(A) TST TH HEd W (B) s¥eRE; feramEmR
(C) Tfeem™ IRt (D) TIME T
42. Who founded Maharashtra’s first school for Dalit girls? 1
(A) Maharshi Karve (B) Jyotiba Phule
(C) B. R. Ambedkar (D) Pandita Ramabai

TEy H gfetd oiefral & fotu wget fammer &t wemuen fepaa e
(A) Tef wd (B) Sifasm Be
(C) o Mo FHagH (D) ufsar w@eTE

43. Which Act confers, self-earned property with equal share in ancestral
property, rights on women? 1

(A) The Dowry Prohibition Act of 1961
(B) The Equal Remuneration Act, 1976
(C) The Hindu Marriage Act of 1955

(D) The Hindu Succession Act, 1956
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44,

45.

foat @1 AfueR w-ia gwuft | 2 3R Rl = qeat wwft | ne iR R
Tz fpa arfufem & srata smar 27

(A) T« Ty srfafem, 1961
(B) @M Iaq fufrm, 1976
(C) Teg fqamg sfufrm, 1955
(D) Te=g Suufresr fufrm, 1956
Or / FYdal

Which of the following Acts provides for payment of equal wages for men
and women for equal work?

(A) The Dowry Prohibition Act of 1961
(B) The Equal Remuneration Act, 1976
(C) The Hindu Marriage Act of 1955
(D) The Hindu Succession Act, 1956

frafafed & @ ®=F-0 sfufEm % 3R ©9 9 & & g9E W 5 fu TE
IaT HT YEEH B 7

(A) T« Ty srfafem, 1961
(B) @M Ia4 fufrm, 1976
(C) Teg fqamg sfufrm, 1955
(D) Te=g STl fufrm, 1956

The sex ratio in India as per 2001 Census is

(Fill in the blank) 1
T 2001 6 VAT F AR, IRd H T e 2l
(fh =M witw)

A woman in the Mahabharata who exhibited a greater sense of
independence and courage was main heroine
(Fill in the blank) 1

TETYRT 1 q&I ATrIehT H TH GEH IR WaA &k T H W R
(Th &M witw)
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46.

47.

48.

Or / FYdar

During the period of , child marriage was encouraged and widow

marriage was looked down upon.
(Fill in the blank)

__ % g1 b ga-Teae & seEn fen Smar o it fayer feee w €9 gt @ @
I
GEIRSIER LY

The marriage in which a man has more than one wife
(Define in one word) 1

o foamg, fed wh =ake i Ut ° sftes ufeEt @
(Tsh wog H ufefya hifse)

Or / FYdi

refers to the number of females per 1000 males.
(Fill in the blank)

Farar g, 9 1000 gEs W Rt i ")
(feh w9 wiw)

Feminists use terms such as patriarchy, male domination, female
subordination, etc., to explain gender discrimination.
(Write True or False) 1

AigATETE! UE STAERUMS 1 %M | @ @ 4 o6 fgasierenal, 789 4@, i e
afe fe A Yewe wE w9 ¥ femrE @ R
(W& a1 T fafe)

Differentiate between organized and unorganized sectors. 2
Tifed R TS &= H @ T Hifm)
Or / 37941

Under what circumstances can gender equality be achieved?

for oftfeufaat & sta@ia <ftes wwm@ar 1 we fomen S gt 27
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49. The National Policy of Education, 1986 laid down that gender

41.

42.

discrimination must be completely eliminated from the educational
system, yet it persists. Give reasons. (Any five points) 1x5=5

1986 ¥ st Tl fran fifa 3 ¥ 9gq wim 9 ¥ wa1 2 T Afes Sewma w1 e s
Y ThHeH B ol AeT W 31 T I8 HEH 2| 38k SRV [ARaU| (13 urd fog)
Or / JYdl

In Independent India, certain legislative steps were taken to improve the
status of women. Examine and discuss the impact/effectiveness of these

policies on their status. (Any five points) 1x5=5
WA vRd § Afgenst i fafd § gar & fou 55 fourh sew 3am ) 3 feufa
R 3 Al % e/ SvEsiad H S 3R == i (FE ura f6g)

OPTIONAL MODULE-II
( Indian Culture )

Iepfeuss ATgIA-1I
( W SRl )
Which of the following activities do you think best exemplifies Indian
culture? 1
(A) High five (B) Fist bump
(C) Shaking hands (D) Touching elders’ feet
ST FEET Pl § & w-d Rkl awde ek B g s SaE 37
(A) BTE wIEE (B) Th&e &
(C) =&y T (D) S % T FA
Based on the following, identify the correct option : 1
Assertion (A) : Culture is a way of life that is common to a group of
people.
Reason (R) : It includes a collection of beliefs and attitudes, shared

understanding and patterns of behaviour.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
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43.

= % IR W T fashed 1 gEE

TET (A) : Th SHEEE gRI IS TS Shed-Siefl 1 gun &9 Gehfa g 2|

T (R) : 38¥ fomemEi 3R eI 1 T T8, HTEN S N SAGER % dih MHA &l
(A) (A) ¥& 8, W (R) Tod 7

(B) (A) T &, W (R) #&l @

(C) (A) 3 (R) T @&l &

(D) (A) 3R (R) Tt Td &

‘Ploughs, sickle, musical instruments, etc.,” relate to which of the

following? 1
(A) Culture is space bound (B) Culture is time bound
(C) Material culture (D) Non-material culture

&1, &, MeR-aTE-TE, sty e § @ feew wata #9

(A) HEHfa TG @ (B) wEpfd wwg @

(C) ifoeh wepfa (D) snitfs e
Or / 3JYa1

“All human beings have technology to manipulate their natural
environment to sustain their life.” Identify to which of the following
characteristics of culture it belongs.

(A) Culture is universal

(B) Culture is stable, yet it is also dynamic

(C) Culture is learned behaviour

(D) None of the above
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44,

45.

46.

“@ft AE 319 e @I ST W W fIT 379 WTeRfaeh STAEReT @i 3T g% S
% Toieh Id 817 I8 T ° | gpfa i few fomwar ¥ wefa g, gEeu)

(A) "Rfd dEvifes 8
(B) wepfa fer 2, ot f nfasfier oft 2
(C) @&hid T @l B3N SR @

(D) Swe # & HiS &
is a process of education without a formal school.
(Fill in the blank) 1
for Sfuais @pat & Foq arell T Tew fren ufsean 2l
(fh M ¥iw)
Time and make culture dynamic.

(Fill in the blank) 1
T i sty w1 e T
(feh w1 WiE)

Or / 374l

Something which is not inherited but gained through effort or over time or
both is
(Fill in the blank)
5 off S WOU ¥ U A g UG T g A T GHT H AT gF gy W Sl TR &/
W wEd @
(fh =™ i)

The art and science of designing and erecting buildings
(Define in one word) 1

wo bl fesefm o fmfu i san 3R fowm
(v vieg | uftaiya <hifsm)

Or / 3741

A formal account in writing systematically of some subjects
(Define in one word)

fordt fowg o1 yafeyq =u 4 fafiga d shu=iies faao
(v wisg ® ety <hifsm)
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47. Norms are not a standard model or pattern regarded as typical for a
specific group of people.
(Write True or False) 1

et yfqum wsh fafde SH-wgg™ & fou @@ afs o1 =@ 6t ey 9 @l E|
(wEl =1 e ferfn)

48. After political liberation, what steps were taken by the Government of India
to promote science and technology? (Write any two points) 1x2=2

ToHIfeeh Taadl & o1¢ URd TR A foxiM 3R dehdish ! TcETed i o o0 hid-
¥ ®eH 3IBC? (fohgl @ 1 3g@ HIWT)

Or / FYdal

Explain the two distinct schools that emerged in Indian architecture. 1x2=2

WRATE IrRshent & &t fird gl il = hifvw)

49. “During the Mughal period, fine art rose to a standard of considerable
excellence.” Justify with suitable examples. (Any five points) 1x5=5

‘P HA H AT el Tl Iohy o ®R W ST g ol g afga siifue
fog Hifs) (g ura forg)

Or / FYai

“The paintings of Ancient India are master pieces of all times.” Justify with
suitable examples. (Any five points) 1x5=5

‘g WA <t st weft s O A W ') 3fua Serstr e e siifacy fug
Fifml (8 ura fog)

* Kk ok
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